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1. (c)

2. (b)The fan contains blades as its

major component. Similarly,

the Car contains Steering as

its major component.

3. (d)7, 41, 211 (41 – 7) = 34 × 6

= 204 + 7  211

and,

12, 66, 336 (66 – 12) = 54 × 6

= 324 + 12 336

Similarly,

11, 61, 311 61 – 11 = 50 × 6

= 300 + 11 = 311

4. (b)34 P 17 S 9 ? 13 R 11 S 3 R 4

= –6

Putting the value of P, R, S

34 ÷ 17 × 9 ? 13 – 11 × 3 – 4

= –6

2 × 9 ? 13 – 11 × 3 – 4 = – 6

18 ? 13 – 33 – 4 = –6

18 ? 13 = –6 + 33 + 4

18 ? 13 = 31

If ?  + then both sides

satisfy.

5. (c) The letter M will be on the

face opposite to F.

6. (b)5. Rectangular

7. (a)

8. (c) D E E R

E G H V

+1 +2 +4+3

And,

R O O M

S Q R Q

+1 +2 +4+3

Similarly,

S O A P

T Q D T

+1 +2 +4+3

9. (a)

( ) + Nikhil

Mukesh  Anjali

Archana

 Nikhil's wife is Archana's

Daughter

10. (a)

11. (c) 532, 667, 802, 937, 1072

+135 +135 +135 +135

12. (d)There are 17 triangles in

given figure.

13. (b) t h n s o r t h n s o r t h n s o r

14. (d)As Taka is official currency

of Bangladesh, similarly

Dinar is official currency of

Kuwait

15. (c) 1,  3,  10,  41,  206,  1237

×2+1 ×3+1 ×4+1 ×5+1 ×6+1

16. (a)

Blanket Curtain

Bedsheet

So, Both conclusion I and II

follow

17. (a) LKPPQS – LKPPQS –

LKPPQS – LKPPQS

18. (c) 54 : 162  54 × 3 = 162

38 : 114 38 × 3 = 114

Similarly,

? : 216 
216

3
 = 72

19. (a) 5 – 4 ÷ 9 + 80 × 10 = x

After interchanged the sign

 5 + 4 × 9 – 80 ÷ 10

 5 + 36 – 8

 41 – 8

 33

20. (b)   N   O   S
14  15  19

+1 +4

 G   H   M
 7    8  13

+1 +5

 B   C   G
 2    3   7

+1 +4

 J    K   O
 10 11 15

+1 +4

21. (b)1. Eyes

2. Lips

4. Neck

3. Stomach

5. Legs

22. (c) S

I

H

T
+1

+1

Similarly,

L

N

M

M

+1
+1

23. (c) 5 horses are neither clips nor
bags

24. (c) 141, 13, 128  141 – 13
= 128
238, 164, 402  402 – 164
= 238
Similarly,
48, 31, 79  79 – 31 = 48

25. (d)80, 72, 64 80 + 64 = 
144

2

= 72

64, 56, 48 64 + 48 = 
112

2

= 56
Similarly,

63, 56, 49  63 + 49 = 
112

2

= 56

B-GENERAL AWARENESS
26. (d)Chandra Gupta II married

his daughter,
Prabhavatigupta, to the
Vakataka ruler Rudrasena
II. This alliance was crucial
for the Gupta Empire, as the
Vakataka territory occupied
a strategic position in the
Deccan, providing a secure
southern flank and
assistance against the
Western Kshatrapas

(Sakas)./paæxqIr f}rh; us viuh
csVh çHkorhxqIrk dk fookg okdkVd
'kkld #ælsu f}rh; ds lkFk fd;kA
;g xBca/u xqIr lkezkT; ds fy,
egRoiw.kZ Fkk] D;ksafd okdkVd {ks=k
MsDdu esa ,d j.kuhfrd fLFkfr esa Fkk]
tks nf{k.kh lhek dks lqjf{kr djus vkSj
if'peh {k=kiksa ('kdksa) ds f•ykiQ
lgk;rk çnku djrk FkkA
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27. (a) The raid on the Somnath

Temple in Gujarat in 1025-

1026 CE is widely considered

the last major invasion by

Mahmud Ghazni that

extended deep into India,

outside the region of Punjab

which he had already

annexed./ 1025&1026 bZLoh esa
xqtjkr ds lkseukFk eafnj ij Nkik ekjuk
egewn xtuoh dk vkf•jh cM+k vkØe.k
ekuk tkrk gS] tks iatkc {ks=k ls ckgj]
tks igys gh mlus gM+i fy;k Fkk]
Hkkjr ds xgjs fgLlksa rd iQSykA

28. (c) Madame Bhikaiji Rustom

Cama is widely regarded as

the ‘Mother of Indian

Revolution’. She is famous

for unfurling the first version

of the Indian National Flag

in Stuttgart, Germany, at the

International Socialist

Conference in 1907.

 Annie Besant was an Irish

activist who founded the All

India Home Rule League in

1916 and was the first

woman President of the

Indian National Congress.

 Usha Mehta was a Gandhian

who is famous for operating

the clandestine “Congress

Radio” during the Quit India

Movement of 1942.

 Kasturba Gandhi- wife of

Mahatma Gandhi, actively

participated in the revolution

alongside him.

eSMe Hkhdkth #Lre dkek dks O;kid
:i ls ^Hkkjrh; Økafr dh ekrk* ds
:i esa tkuk tkrk gSA mUgksaus 1907 esa
teZuh ds LVVxkVZ es a varjjk"Vªh;
lektoknh lEesyu esa Hkkjrh; jk"Vªh;
èot dk igyk laLdj.k iQgjk;kA

 ,uh cslsaV% vk;fj'k dk;ZdrkZ] ftUgksaus
1916 esa vkWy bafM;k gkse :y yhx
dh LFkkiuk dh vkSj Hkkjrh; jk"Vªh;
dkaxzsl dh igyh efgyk vè;{k FkhaA

 m"kk esgrk% xka/hoknh] tks 1942 ds
Hkkjr NksM+ks vkanksyu ds nkSjku xqIr

^dkaxzsl jsfM;ks* lapkfyr djus ds fy,
çfl¼ gSaA

 dLrwjck xka/h% egkRek xka/h dh iRuh]
ftUgksaus muds lkFk Økafr esa lfØ; :i
ls Hkkx fy;kA

29. (a) Visva-Bharati was founded

by Nobel Laureate

Rabindranath Tagore in

1921 at Santiniketan, West

Bengal. He envisioned it as

a centre for culture and

education that would be a

meeting point for the East

and the West, reflecting his

philosophy of humanism

and universalism. It became

a Central University in 1951.

 Vinoba Bhave - Bhoodan

Movement, Mother Teresa-

Missionaries of Charity,

Swami Chinmayananda -

Chinmaya Mission to spread

the knowledge of Vedanta.

fo'o&Hkkjrh dh LFkkiuk ukscsy iqjLdkj
fotsrk johaæukFk VSxksj us 1921 esa if'pe
caxky ds 'kkafrfudsru esa dh FkhA mUgksaus
bls iwoZ vkSj if'pe ds feyu fcanq ds
:i esa ,d lkaLÑfrd vkSj 'kSf{kd
dsaæ ds :i esa ns•k] tks mudh
ekuorkokn vkSj lkoZHkkSfedrk dh
n'kZu'kkL=k dks n'kkZrk gSA ;g 1951 esa
,d dsaæh; fo'ofo|ky; cukA

• fouksck Hkkos% Hkwnku vkanksyu] enj Vsjslk%
fe'kujht vk WiQ pk S fjVh] Lokeh
fpUe;kuan% osnkar Kku ds çlkj ds
fy, fpUe; fe'kuA

30. (a) 1 degree of latitude is

approximately equal to 111

kilometres (69 miles). This

value is derived from

dividing the Earth’s

c i r c u m f e r e n c e

(approximately 40,000 km)

by 360 degrees./1 fMxzh v{kka'k
yxHkx 111 fdyksehVj (yxHkx 69
ehy) ds cjkcj gksrk gSA ;g eku
i`Foh dh ifjf/ (yxHkx 40]000
fdeh) dks 360 fMxzh ls foHkkftr
djds çkIr fd;k x;k gSA

31. (a)Gobind Sagar is a large

artificial reservoir located in

the Bilaspur District of

Himachal Pradesh. It was

formed by the Bhakra Dam,

which is a part of the Bhakra

Nangal Project built on the

Satluj River./xksfcan lkxj fgekpy
çns'k ds fcykliqj ftys esa fLFkr ,d
cM+k Ñf=ke tyk'k; gSA ;g Hkk•M+k
cka/ }kjk cuk;k x;k] tks lryqt unh
ij fufeZr Hkk•M+k uaxy ifj;kstuk dk
fgLlk gSA

32. (c) The National Waterway 2

(NW-2), which is the

Brahmaputra River from

Sadiya to Dhubri (in Assam),

is a primary waterway that

provides connectivity with

mainland India through the

India-Bangladesh Protocol

(IBP) Route.

NW-10 Amba River;

Maharashtra

NW-15 River Barah; Odisha

NW-83 River Rupnarayan;

West Bengal

jk"Vªh; tyekxZ 2 (NW-2)] tks lkfn;k
ls /qcjh (vle esa) rd czãiq=k unh
gS] ,d çkFkfed tyekxZ gS tks
Hkkjr&ckaXykns'k çksVksdkWy (IBP) ekxZ
ds ekè;e ls eq[;Hkwfe Hkkjr ls
dusfDVfoVh çnku djrk gSA

• N&10% vack unh_ egkjk"Vª
• N&15% cjkg unh_ vksfM'kk
• N&83% :iukjk;.k unh_ if'pe caxky

33. (b)The Act passed in 1929

prohibiting the marriage of

girls below 14 and boys

below 18 years of age was the

Sharda Act. Its official name

was the Child Marriage

Restraint Act, 1929. It was

named after its sponsor,

Harbilas Sarda.

 Pitt’s India Act (1784): It gave

the British Government

direct control over the East

India Company’s political

affairs and management in

India.
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 Vernacular Press Act (1878):
This Act allowed the
government to censor and
confiscate the assets of any
local language newspaper
that published “seditious”
content.

 Rowlatt Act (1919): This
repressive Act allowed the
government to imprison
people without trial for up to
two years on the mere
suspicion of revolutionary
activity.

1929 esa ikfjr vf/fu;e] ftlus 14
o"kZ ls de mez dh yM+fd;ksa vkSj 18
o"kZ ls de mez ds yM+dksa ds fookg
dks çfrcaf/r fd;k] 'kkjnk vf/fu;e
FkkA bldk vkf/dkfjd uke pkbYM
eSfjt jsLVªsaV ,DV] 1929 FkkA bls blds
çk;kstd gjfcykl 'kkjnk ds uke ij
j•k x;k FkkA

 fiV~l bafM;k ,DV (1784)% blus fczfV'k
ljdkj dks bZLV bafM;k daiuh ds
jktuhfrd ekeyksa vkSj çca/u ij lhèkk
fu;a=k.k fn;kA

 oukZD;wyj çsl ,DV (1878)% bl
vfèkfu;e us ljdkj dks LFkkuh; Hkk"kk
ds lekpkj i=kksa dks lsalj djus vkSj
mudh laifÙk tCr djus dh vuqefr
nh] tks ̂ ns'kæksgh* lkexzh çdkf'kr djrs
FksA

 jkWysV ,DV (1919)% bl neudkjh
vfèkfu;e us ljdkj dks Økafrdkjh
xfrfof/ ds lansg ij fcuk eqdnes ds
yksxksa dks nks lky rd dSn djus dh
vuqefr nhA

34. (a) The writ of Certiorari
(meaning “to be certified” or
“to be informed”) is issued by
the Supreme Court or a High
Court to a lower court or
tribunal to quash an order
already passed or to transfer
a case for review of its
records, usually on the
grounds of: Excess or lack of
jurisdiction, Violation of the
principles of natural justice,
Error of law apparent on the
face of the record.

lfVZ;ksjkjh fjV (ftldk vFkZ gS “çekf.kr
gksuk” ;k “lwfpr gksuk”) lokZsPp
U;k;ky; ;k mPp U;k;ky; }kjk fupyh
vnkyr ;k fVªC;wuy dks igys ls ikfjr
vkns'k dks jí djus ;k fjdkWMZ dh
leh{kk ds fy, ekeyk LFkkukarfjr djus
ds fy, tkjh fd;k tkrk gS] vkerkSj
ij fuEufyf•r vk/kjksa ij% vf/dkj
{ks=k dk vfrfjDr ;k deh] çkÑfrd
U;k; ds fl¼karksa dk mYya?ku] fjdkWMZ
ij Li"V dkuwuh =kqfVA

35. (a) The ISA’s comprehensive
strategy is called “Towards
1000” and has three main
objectives for 2030:

1. Mobilise $1,000 billion of
investment in solar energy
solutions.

2. Facilitate the installation of
1,000 GW of solar energy
capacity.

3. Provide clean energy access
to 1,000 million people.

ISA dh O;kid j.kuhfr dks "VwoM~lZ
1000" dgk tkrk gS vkSj blds 2030
ds fy, rhu eq[; mís'; gSa%

    1- lkSj ÅtkZ lek/kuksa esa 1]000 vjc
MkWyj dk fuos'k tqVkukA

    2- 1]000 xhxkokV lkSj ÅtkZ {kerk dh
LFkkiuk dks lqfo/ktud cukukA

    3- 1]000 fefy;u yksxksa dks LoPN ÅtkZ
rd igqap çnku djukA

36. (d) A proportional income tax (or
any well-structured income
tax, especially a progressive
one) acts as an automatic
stabiliser in the economy. It
is a feature that smooths out
fluctuations in the economic
cycle without direct
intervention or decision by

the government./,d
lekuqikfrd vk;dj (;k dksbZ Hkh vPNh
rjg ls lajfpr vk;dj] fo'ks"k :i ls
çxfr'khy) vFkZO;oLFkk esa Lopkfyr
fLFkjhdj.k ds :i esa dk;Z djrk gSA
;g ,d ,slh fo'ks"krk gS tks ljdkj ds
çR;{k gLr{ksi ;k fu.kZ; ds fcuk vkfFkZd
pØ esa mrkj&p<+ko dks lqpk: djrh
gSA

37. (b)Kinetic energy is the energy
associated with motion. All
the objects mentioned are in
motion, so they possess
kinetic energy. For Example:
falling of coconut, speeding
of car, rolling stones, flying

aircrafts etc./xfrt ÅtkZ og ÅtkZ
gS tks xfr ls tqM+h gksrh gSA lHkh
mfYyf•r oLrq,a xfr esa gSa] blfy,
muesa xfrt ÅtkZ gksrh gSA mnkgj.k%
ukfj;y dk fxjuk] dkj dh xfr] iRFkj
dk yq<+duk] gokbZ tgkt dk mM+uk
vkfnA

38. (d) Ralph H. Fowler, a British
physicist, coined the term
“Zeroth Law of
Thermodynamics” in 1931.
The law states: If two
systems are each in thermal
equilibrium with a third
system, then they are in
thermal equilibrium with
each other. This law helps
define the concept of
temperature in a consistent

way./jkYiQ ,p- iQkmyj] ,d fczfV'k
H k k S f rd foKkuh ] u s  1931 e s a
^FkekZsMk;ukfeDl dk 'kwU;oka fu;e* 'kCn
x<+kA ;g fu;e dgrk gS% ;fn nks
ç.kkfy;ka rhljh ç.kkyh ds lkFk rkih;
larqyu esa gSa] rks os ,d&nwljs ds lkFk
Hkh rkih; larqyu esa gSaA ;g fu;e
rkieku dh vo/kj.kk dks lqlaxr rjhds
ls ifjHkkf"kr djus esa enn djrk gSA

39. (c) Ammonia (NH
3
) is an

inorganic compound, made
up of Nitrogen and
Hydrogen. It does not
contain carbon, which is a
defining feature of organic
compounds. Meanwhile
Furan, Decane and Nonane
are organic compounds with
Carbon driving primary and
important role in them./

veksfu;k (NH
3
) ,d vdkcZfud

;kSfxd gS] tks ukbVªkstu vkSj gkbMªkstu
ls cuk gSA blesa dkcZu ugha gksrk] tks
dkcZfud ;kSfxdksa dh ifjHkkf"kr fo'ks"krk
gSA ogha] Ý;wju] Msdsu vkSj uksuu
dkcZfud ;kSfxd gSa ftuesa dkcZu dh
çkFkfed vkSj egRoiw.kZ Hkwfedk gksrh
gSA
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40. (d) Flat bones are thin,

flattened, and usually

curved bones that provide

protection to internal organs

and a surface for muscle

attachment. Examples

include ribs, skull bones,

sternum, and scapula./piVh
gfîó;ka iryh] piVh vkSj vkerkSj ij
?kqekonkj gfîó;ka gksrh gSa tks vkarfjd
vaxksa dh lqj{kk vkSj ekalisf'k;ksa ds
fy, lrg çnku djrh gSaA mnkgj.k%
ilfy;ka] •ksiM+h dh gfîó;ka] LVuZe]
vkSj LdSiqykA

41. (c) The forebrain (specifically

the hypothalamus) contains

the hunger and satiety

centers, regulating the

sensation of feeling full. The

pituitary gland controls

hormones, the midbrain

relays signals, and the

hindbrain (cerebellum,

medulla) manages motor and

vital functions./vxzefLr"d
(fo'ks"k :i ls gkbiksFkSysel) esa Hkw•
vkSj r̀fIr dsaæ gksrs gSa] tks Hkkstu ds
ckn r̀fIr dh vuqHkwfr dks fu;af=kr
djrs gSaA fiVÔwVjh xzafFk gkekZsu dks fu;af=kr
djrh gS] eè; efLr"d ladsrksa dks
çlkfjr djrk gS] vkSj i'p efLr"d
(lsjscsye] esMqyk) eksVj vkSj egRoiw.kZ
dk;ks± dks çcaf/r djrk gSA

42. (a)EEPROM is a type of non-

volatile memory used in

computers and other

electronic devices. The data

stored in it can be erased

and reprogrammed using an

electrical voltage, allowing

for in-circuit updates

without removing the chip.

 Electrically Erasable: Data

can be erased using an

electrical signal.

 Programmable: Data can be

written or stored on the chip.

 Read-Only Memory (ROM):

Data persists even when the

power is turned off (non-

volatile).

EEPROM ,d çd kj dh
xSj&ok"i'khy eseksjh gS ftldk mi;ksx
daI;wVj vkSj vU; bysDVªkWfud midj.kksa
esa fd;k tkrk gSA blesa laxzghr MsVk dks
fo|qr oksYVst dk mi;ksx djds feVk;k
vkSj iquyZs•u fd;k tk ldrk gS] ftlls
fpi dks gVk, fcuk lfdZV esa viMsV
dh vuqefr feyrh gSA

    fo|qr :i ls feVkus ;ksX;% MsVk dks
fo|qr ladsr dk mi;ksx djds feVk;k
tk ldrk gSA

    çksxzke djus ;ksX;% MsVk dks fpi ij
fy•k ;k laxzghr fd;k tk ldrk gSA

    jhM&vksuyh eseksjh (ROM)% fctyh
can gksus ij Hkh MsVk cuk jgrk gS
(xSj&ok"i'khy)A

43. (c) The prize is off icially a
Franco-Indian literary award
established in 2012 to
promote French-language
literature in India and Indian
literature in France. It is
named after the Nobel
laureate Rabindranath
Tagore’s famous collection of

poems, Gitanjali./;g iqjLdkj
vkf/dkfjd rkSj ij ,d Úkadks&Hkkjrh;
lkfgfR;d iqjLdkj gS] ftls 2012 esa
Hkkjr esa Úkalhlh Hkk"kk ds lkfgR; vkSj
Úkal esa Hkkjrh; lkfgR; dks c<+kok nsus
ds fy, LFkkfir fd;k x;k FkkA bldk
uke ukscsy iqjLdkj fotsrk johaæukFk
VSxksj ds çfl¼ dkO; laxzg] xhrkatfy
ds uke ij j•k x;k gSA

44. (c) Prasanta Chandra
Mahalanobis (P. C.
Mahalanobis) was the
visionary who founded the
Indian Statistical Institute
(ISI) in Calcutta (now
Kolkata) in 1931. He is
regarded as the “Father of
Indian Statistics” and also
played a key role in the
formulation of India’s
Second Five-Year Plan.

 JM Sengupta: A prominent
Indian revolutionary and
freedom fighter, and an
advocate of Swadeshi.

 RN Mookerjee: Sir Rajendra

Nath Mookerjee was a

pioneering industrialist and

co-founder of the

engineering firm Martin &

Co.

 Subhendu Sekhar Bose: A

Bengali physicist and

statistician who worked

closely with P. C.

Mahalanobis and

contributed to ISI, but was

not its founder.

ç'kkar paæ egkykuksfcl (ih- lh-
egkykuksfcl) og nwjn'khZ Fks ftUgksaus
1931 esa dksydkrk (vc dksydkrk)
esa Hkkjrh; lkaf[;dh laLFkku (ISI)
dh LFkkiuk dhA mUgsa "Hkkjrh; lkaf[;dh
ds firk" ds :i esa tkuk tkrk gS vkSj
mUgksaus Hkkjr dh nwljh iapo"khZ; ;kstuk
ds fuekZ.k esa Hkh egRoiw.kZ Hkwfedk fuHkkbZA

 ts,e lsuxqIrk% ,d çeq• Hkkjrh;
Økafrdkjh vkSj Lons'kh ds leFkZdA

 vkj,u eq•thZ% lj jktsaæ ukFk eq•thZ
,d vxz.kh m|ksxifr vkSj bathfu;fjax
iQeZ ekfVZu ,aM daiuh ds lg&laLFkkid
FksA

 lqHksanq 'ks•j cksl% ,d caxkyh HkkSfrd
foKkuh vkSj lkaf[;dhfon~] ftUgksaus ih-
lh- egkykuksfcl ds lkFk feydj ISI

esa ;ksxnku fn;k] ysfdu blds laLFkkid
ugha FksA

45. (b)The Gaan-Ngai is a major

five-day festival primarily

celebrated by the

Zeliangrong community

(comprising Zeme, Liangmai,

and Rongmei tribes) in the

North-Eastern part of India,

particularly in the state of

Manipur. It is a post-harvest

festival dedicated to

thanking the supreme power

and praying for a prosperous

coming year./xku&uxkbZ ,d çeq•
ikap fnolh; R;ksgkj gS tks eq[; :i
ls Hkkjr ds iwokZsÙkj fgLls] fo'ks"k :i
ls ef.kiqj jkT; esa tsfy;kaxzksax leqnk;
(tses] fy;kaxekbZ] vkSj jksaxebZ tutkfr;ksa
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ls ;qDr) }kjk euk;k tkrk gSA ;g ,d
iQly ds ckn dk R;ksgkj gS tks lokZsPp
'kfDr dks /U;okn nsus vkSj vkus okys
o"kZ ds fy, lèf¼ dh çkFkZuk ds fy,
lefiZr gSA

46. (a) Uday Shankar (1900–1977)

is widely called the Father of

Modern Indian Dance. He

was a pioneer who fused

Indian classical dance forms

with European theatrical

techniques and ballet,

creating a unique, modern

style often referred to as

‘Indo-Western’ dance.

• CV Chandrasekhar –

Bharatanatyam, Raja Reddy

– Kuchipudi./mn; 'kadj (1900
– 1977) dks O;kid :i ls vk/qfud
Hkkjrh; u`R; dk firk dgk tkrk gSA
mUgksaus Hkkjrh; 'kkL=kh; u`R; :iksa dks
;wjksih; ukVdh; rduhdksa vkSj cSys ds
lkFk feykdj ,d vf}rh;] vk/qfud
'kSyh cukbZ] ftls vDlj ̂ Hkkjr&if'peh*
u`R; ds :i esa tkuk tkrk gSA

 lhoh paæ'ks•j% HkjrukVÔe] jktk jsîóh%
dqfpiqM+hA

47. (b)The Indian Air Force (IAF)

recently retired the last of its

iconic MiG-21 fighter

aircraft. It played a key role

in the 1965 and 1971 wars,

as well as the Kargil conflict

and the Balakot airstrike

(including the 2019 downing

of a Pakistani F-16 by Wing

Commander Abhinandan

Varthaman).

• Successor: The MiG-21 will

now be replaced primarily by

the indigenously developed

LCA Tejas Mk 1A fighter

aircraft.

Hkkjrh; ok;q lsuk (IAF) us gky gh
esa vius çfrf"Br fex&21 yM+kdw foekuksa
ds vafre csM+s dks lsok ls lsokfuo`Ùk
fd;k gSA blus 1965 vkSj 1971 ds
;q¼ksa ds lkFk&lkFk dkjfxy la?k"kZ vkSj
ckykdksV gokbZ geys (2019 esa foax
dekaMj vfHkuanu o/Zeku }kjk ,d

ikfdLrkuh F&16 dks ekj fxjkus lfgr)
esa egRoiw.kZ Hkwfedk fuHkkbZ FkhA

 mÙkjkf/dkjh% fex&21 dh txg vc
eq[; :i ls Lons'kh :i ls fodflr
,ylh, rstl ,eds 1A,  yM+kdw
foeku ysxkA

48. (c) The country’s first ‘AI-

powered Pilgrim ICCC’ (AI-

powered Pilgrim Integrated

Command and Control

Centre) has been launched

at the Sri Venkateswara

Swamy Vari Temple in

Tirumala, Andhra Pradesh.

The centre uses artificial

intelligence (AI) and over

6,000 AI-enabled cameras to

enhance crowd

management, wait time

prediction, security, and

cyber threat monitoring for

pilgrims.

vka/z çns'k esa ns'k dk igyk 'AI-

powered Pilgrim ICCC'

(AI&lapkfyr rhFkZ;k=kh ,dhÑr deku
vkSj fu;a=k.k dsaæ) fr#eyk fLFkr Jh
osadVs'oj Lokeh okjh eafnj esa 'kq:
fd;k x;k gSA ;g dsaæ rhFkZ;kf=k;ksa ds
fy, HkhM+ çca/u] çrh{kk le; dh
Hkfo";ok.kh] lqj{kk vkSj lkbcj •rjksa
dh fuxjkuh dks c<+kus ds fy,
vkfVZfiQf'k;y baVsfytsal (AI) vkSj
6]000 ls vf/d AI & l{ke dSejksa
dk mi;ksx djrk gSA

49. (b) The theme of ‘World Tourism

Day’ celebrated on 27

September 2025 was

“Tourism and Sustainable

Change”. The theme aims to

highlight the importance of

tourism as a tool to

strengthen local economies,

create employment

opportunities and promote

inclusive growth while

protecting the

environment./27 flracj 2025
dks euk, x, ̂ fo'o i;ZVu fnol* dk
Fkhe “i;ZVu vkSj lrr ifjorZu” FkkA
bl Fkhe dk mís'; i;ZVu ds egRo

dks ,d ,sls lk/u ds :i esa mtkxj
djuk gS] tks LFkkuh; vFkZO;oLFkk dks
etcwr djus] jkstxkj ds volj iSnk
djus vkSj i;kZoj.k dh j{kk djrs gq,
lekos'kh fodkl dks c<+kok ns ldsA

50. (a) Google celebrated its 27th

anniversary on 27

September 2025. The

company celebrates the day

with a special doodle, which

this year brought back its

original 1998 logo./xwxy us 27
flracj 2025 dks viuk 27oka LFkkiuk
fnol euk;kA daiuh bl fnu dks ,d
fo'ks"k MwMy ds lkFk eukrh gS] tks bl
lky mlds ewy 1998 ds yksxks dks
okil yk;k FkkA

C - QUANTITATIVE APTITUDE

51. (d)sin + cos = 2

for  = 45°

Both sides of equation satisfy

Now,

cosec + cot

= 2 1

52. (c) From the given sides of the

triangle, it is clear the

triangle is a right-angle

triangle.

 Area of triangle = 
1

2
× base

× height unit2

= 
1

2
 × 16 × 12 cm2

= 96 cm2

53. (c) 2 29 12 4

36

x xy y 

= 
   

 

2 2

2

3 2 3 2 2

6

x x y y   

= 

2
3 2

6

x y 
  
 

= 

3

2 3

x y 
  
 
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54. (a)Ratio of cost price and

marked price = 100 : 130

ATQ,

130 units – 40  200

130 units  240

100 units 
2400

13

 Profit = 200 – 
2400

13


200

13

% Profit = 

200

13 100
2400

13



= 
200

2400
×100

= 8.34%

55. (a) Total expenditure = 300 +

600 + 500 + 400 + 1200

= 3000

Total income = 3000 + (500

+ 1000 + 800 + 500 + 600)

= 6400

 % of income to

expenditure of companies

= 
6400

100
3000



= 213.33%

56. (d)Let total runs = 100%

ATQ,

100%  700

1%  7

29%  203

13% = 91

12% = 84

 Total runs = 203 + 91 +

84 = 378

57. (c) 25 ÷ 10 – 
7 1

4 3

 
  
 

 of 
6

5
 + 

14

3

× 
9

10
 + 

1 1

5 25

 
  
 

= 
5

2
 – 

7

12
 × 

6

5
 + 

21

5
 + 5

= 
5

2
 – 

42

60
 + 

21

5
 + 5

= 
150 42 252 300

60

  
= 11

58. (d)Ratio of angles = 20 : 11 : 5
ATQ,
5  25°
1  5°
20° = 100°
 Largest angle is 100°

59. (b) P

G

1812

9

RQ

S T

We know centroid divides the
median in 2 : 1
ATQ, for QT
3 units  18
1 unit = 6
2 units  12
For RS
3 units  27
1 unit  9
2 units  18
From right angle SQG, QS
is hypotenuse
QS = 15 cm [From triplet]
Length of QS = 15 cm

60. (c) cot(P + Q) = 0,
Or, cot(P + Q) = cot90°
Or, P + Q = 90°

and, tan(P – Q) = 
1

3

Or, tan(P – Q) = tan30°
Or, P – Q = 30°
 P = 60°, Q = 30°

61. (a) Let salary of Tilak at first 100%

100%        115        92        115
+15% +25%-20%

ATQ,
115%  23000
1%  200
100%  20000
 Tilak's salary at starting
20000

62. (a)
2

2

1 tan 45

1 cos 90

 

 

= 
 
 

2

2

1 1

1 0





= 0

63. (d)Ratio of capital of Nikhil and
Neha = 5 : 4
Let,
Nikhil invested for t yr
 Neha invested for (t + 1)
yr
Ratio of profit = 5t : 4(t +
1)
ATQ,

5

4 4

t

t   = 
6

5

Or, 25t = 24t = 24t + 2y
Or, t = 24
 Neha invested money for
25y

64. (b) (P + 2q)2 – (P – 2q)2

= p2 + 4pq + 4q2 – p2 + 4pq –
4q2

= 8pq
65. (a) Let there are 10 articles

Total loss incurred = 6 ×
20%
= 120%
Total profit gained = 4 × 5
%
= 20%
 Overall loss percentage

= 
120% 20%

10

 
 = –10%

 loss incurred 10%
66. (d)224 of 4 ÷ 7 – 250 × 3

= (224 × 4) ÷ 7 – 750
= 128 – 750
= –622

67. (b)Area of trapezium plate

= 
1

2
× (15 + 9) × 6 cm

= 72 cm2

 Cost of copper plating
= (72 × 3)
= 216

68. (a) Let speed of Farhan = F
S

Speed of Aman = A
S

Time taken by Farhan = x
hr
 Time taken by Aman

= 

8

60
x

 
  
   hr

ATQ,
F

S
  + A

S
 = 60

F
S
 – A

S
 = 40

F
S
 = 50
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A
S
 = 10

Distance covered by Aman =

Distance covered by Farhan

Or, 
8

10
60

x
 
  
 

 = 50x

Or, 
8

10
6

x   = 50x

Or, x = 
1

30

 Distance covered by them

= 
50

30
 km

= 
5

3
 km

69. (b)Let total runs is 100%

ATQ,

100%  500

1% = 5

32% = (32 × 5)

= 160

 Runs scored by R is 160

70. (b)Time taken by A to complete

= 
8

36
3

 
  
 

 days = 96 days

Time taken by B to complete

= (27 × 2) days

= 54 days

I. Ratio of time of A and B

= 96 : 54

= 32 : 18

= 16 : 9

Ratio of efficiency of A, B

= 9 : 16

 Statement is correct

II. A and B complete the

work = 
864

25
 days

11

15

th

 part of total work

= 
9504

125

 Time required to finish

11

15

th

 part = 
9405

15625

Statement is incorrect.
71. (b)Total salary of employees C,

D, E = 300 + 200 + 400 = 900

 Average salary = 
900

3

= 300
72. (b)As, x + y + z = 0

So, x3 + y3 + z3 = 3xyz

Or, 

3 3 3

2( )

x y z

xyz

 
 = 

 
2

3xyz

xyz

Or, 
 

2

x

yz
 + 

 
2

y

zx
 + 

 
2

z

xy

= 
3

xyz

73. (d)Let, Principal is P
Time required to become 3
times

t = 

 3

10

100

P P

P





Or, t = 20y
I. For becoming 5 times -

Amount = 5P
Principal = P
 Interest = (5P – P) = 4P

Time = 

4P

20
P

100


= 20 y
Statement is correct

II. For becoming 7 times-
Principal = P
Amount = 7P
Interest = (7P – P) = 6P

 Time = 
6P

30
P

100


= 20 y
Statement is correct

74. (a) A

CB D4 10

From angle bisector theorem,

AB

AC
 = 

BD

BC

AB : AC = 4 : 10
2 : 5

75. (b)Ratio of Ist and IInd number 2

: 1

Ist and IIIrd number = 2 : 3

Ratio of Ist, IInd and IIIrd 

IInd : Ist : 3rd

1 : 2 : 2

2 : 2 : 3

2 : 4 : 6

ATQ,

12x + 120 = 300

Or, x = 
180

12

Or, x = 15

IIIrd number is = 6 × 15

= 90

D-ENGLISH COMPREHENSION

76. (d)The correct spelling is

Incredulous (vfo'oklh)
which means unwilling or

unable to believe something.

77. (a) The correct collocation is

“fear of failure” (vliQyrk dk
Hk;). It means the anxiety or

apprehension that one might

not succeed.

78. (a) “nip in the bud” means to

stop something at an early

stage before it grows or

becomes serious.

79. (a). Contrition (i'pkrki) – A

deep feeling of remorse or

regret for wrongdoing.

Impenitence (fuji'pkrki) –
Lack of regret or remorse for

one’s actions.

Adulation (pkiy wlh) –

Excessive f lattery or

admiration.

80. (b)Remorse – deep regret or

guilt (iNrkok). Opposite

is Impenitence – lack of

regret for wrongdoing

(fuyZTtrk).

Regret  – sorrow for

something done (iNrkok).

Blame – responsibility for a

fault (nks"k).

Excuses – reasons to justify

faults (cgkus).
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81. (d)Penitence – deep regret for

wrongdoing (i'pkÙ k ki) .

Similar to Contrition means

sincere remorse (i'pkÙkki).

Exasperation  – intense

irritation (d"V) .
Reparation  – making

amends for a wrong

({kfriwfrZ).

Anguish – severe mental or

physical pain (ihM+k) .

82. (d)The correct spelling is

Curiosity (ftKklk) which

means a strong desire to

know or learn something.

83. (a) The modal verb ‘will’ (used

for the future tense) must

always be followed by the

base form of the verb (V1).

Correct form: will + meet

84. (b) “sail in the same boat”

means to be in the same

situation or share the same

problem.

85. (d)Correct order is CABD

C introduces: Forefathers’

family structure was

different.

A explains: They lived in

cohesive joint families,

happier than us.

B adds benefit: Joint family

gave emotional cushioning.

D concludes: Such love is rare

in today’s nuclear families.

86. (d)Correct order is DCBA.

D: Introduces topic – Health is

the root of prosperity.

C: Result – Man becomes

intelligent and powerful.

B: Further result – Healthy

people are ambitious.

A: Effect – Sound body and

mind bring happiness.

87. (a)Turmoil  – state of great

confusion or disorder

(vjktdrk) . Opposite

is Quiet – calm and peaceful

condition ('kkafr).

Turbulence  – violent

disturbance (v'kkafr).

Fuss  – unnecessary

excitement (gaxkek).

Resistance – opposition to

something (fojks/).

88. (c) (1) persuasive (çHkko'kkyh) ’!
Describes the speech’s

ability to convince the

audience.

(2) well-structured

(O;ofLFkr) ’! Describes the

clarity and organization of

the speech.

(3) lasting (LF k k; h) ’ !

Describes the enduring

impression left on the

audience.

89. (a) Eerie (vthc @ jgL;e;)
means strange, frightening,

or mysterious, similar to

Mysterious (jgL;e; @ vthc)
something causing unease

or suspense.

90. (a) The verb “planned” needs to

be modified by an adverb to

show how the friends

planned.

“The friends excitedly

planned their upcoming

vacation…” ’! excitedly

(adjective excited + -ly)

means in an excited manner.

91. (c) Living from hand to mouth

(thus ds fy, jkst dekuk) means

people who earn just enough

to survive daily, without any

savings or security.

92. (a) Intruder (vuf/Ñr ços'k djus

okyk) is someone who enters

a place without permission.

93. (a) Active Voice Structure :

Why + did + your father

(Subject) + not accompany

(Base verb) + you (Object)? ’!

Why didn’t your father

accompany you?

Passive Voice Structure :

Why + were + you (Object

becomes subject) + not

accompanied (Past

participle) + by your father

(Agent)? ’! Why were you not

accompanied by your father?

94. (d)“not only... but also” is

correct correlative

conjunction pair used to

connect two clauses or

phrases, showing that the

second part is an addition to

the first, often with a sense

of emphasis or surprise.

95. (d)“gave his heart and soul”

means to put in complete

energy and effort to achieve

something.

96. (b)

97. (a)

98. (b)

99. (d)

100.(a)

ANSWER KEY

1. (c)

2. (b)

3. (d)

4. (b)

5. (c)

6. (b)

7. (a)

8. (c)

9. (a)

10. (a)

11. (c)

12. (d)

13. (b)

14. (d)

15. (c)

16. (a)

17. (a)

18. (c)

19. (a)

20. (b)

21. (b)

22. (c)

23. (c)

24. (c)

25. (d)

26. (d)

27. (a)

28. (c)

29. (a)

30. (a)

31. (a)

32. (c)

33. (b)

34. (a)

35. (a)

36. (d)

37. (b)

38. (d)

39. (c)

40. (d)

41. (c)

42. (a)

43. (c)

44. (c)

45. (b)

46. (a)

47. (b)

48. (c

49. (b

50. (a

51. (d)

52. (c)

53. (c)

54. (a)

55. (a)

56. (d)

57. (c)

58. (d)

59. (b)

60. (c)

61. (a)

62. (a)

63. (d)

64. (b)

65. (a)

66. (d)

67. (b)

68. (a)

69. (b)

70. (b)

71. (b)

72. (b)

73. (d)

74. (a)

75. (b)

76. (d)

77. (a)

78. (a)

79. (a)

80. (b)

81. (d)

82. (d)

83. (a)

84. (b)

85. (d)

86. (d)

87. (a)

88. (c)

89. (a)

90. (a)

91. (c)

92. (a)

93. (a)

94. (d)

95. (d)

96. (b)

97. (a)

98. (b)

99. (d)

100.(a)


